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1 , 06m , 06m Find the support reactions of the

given structural system.

10 KN/m

1,2m

2
25kN Find the support reactions of the
15kN.M s 10kN/m given structural system.
3 Find the support reactions and
the force of the cable ADB of

the given structural system.
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If the roller support at A and the
pin support at B can carry a
maximum of 4 kN and 8 kN
respectively, then find the
maximum value of the w load in
KN/m
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40N 30N Find the support reactions of the
given structural system.
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A l Find the support reactions of the
300N 0.5m given structural system.
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Find the support reactions of the
given structural system.




6 kN

Find the support reactions of the
given structural system.

9
10 kN , .
Find the support reactions of the
given structural system.
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400 N /m
200 N/m 1T Find the support reactions of the
] l given structural system.
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